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B.A. Semester III (Honours) Examination, 2018-19
HISTORY

Course ID : 30412 Course Code : AHHST-302C-6

Course Title: Transformation of Europe
(From decline of Feudalism to 17th Century)

Time: 2 Hours Full Marks: 40

The figures in the margin indicate full marks.

Candidates are required to give their answers in their own words
as far as practicable.
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1. Answer any five of the following questions: 2x5=10
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(a) Mention two reasons for the downfall of Constantinople in 1453.
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(b) Define ‘Renaissance’.
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(c) Who is considered as the ‘father of humanism’? Name a book written by him.
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(d) What was the basic opinion of Jean Bodin regarding the causes of price revolution?
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(e) Name any two paintings of Leonardo da Vinci.
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(f) Who wrote ‘Leviathan’? Who, according to him, was the sovereign power?

‘EIfSAAR & @GN ? ST TORPIE AL ST Fold SfFd (&2

(g) In which year did the ‘Glorious Revolution’ take place? Why was it so called?
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(h) What is ‘Military Revolution’?
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2. Answer any four of the following questions: 5%4=20
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(a) What was the socio-economic impact of Plague-epidemic in Europe in the 14th Century?
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(b) Discuss the cultural consequences of printing revolution.
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(c) What role did Italian cities play in the emergence of Renaissance?
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(d) Discuss in brief the salient features of ‘Humanism’.
AORItE wwgs)d (@R AR i FET |
(e) How did the treaty of Westphalia create the modern state-system in Europe?
SEPHEET pfe T e STEAT AFIIT 1T TEICe AR FCA(RE ?
(f) Which events made the civil war (1642—-1649) in England inevitable?
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3. Answer any one of the following question: 10x1=10
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(a) Discuss the historical debate on the transition from feudalism to capitalism.
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(b) Explain the background of the sea voyage and geographical explorations during the 15th
and 16th century.
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